Name __________________________________
Date ___________________

LESSON 4.1
Practice A
Match the function with its graph.
1. f(x) = 2x
2. f(x) = (2x
3. [image: image1.png]%N



f(x) = 4(2x)
4. [image: image2.png]


f(x) = (
(2x)
5. f(x) = (
(2x)
6. f(x) = ( 4(2x)
[image: image3.png]
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A. 

B. 
C. 
[image: image6.png]
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D. 
E. 

F. 
Graph the function.
7. [image: image9.png]
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f(x) = 4x


8. f(x) = 3 ( 3x



9. f(x) = (5x
10. [image: image12.png]
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f(x) = 2x + 2


11. f(x) = 3x + 1


12. f(x) = 2x ( 2 ( 1

In Exercises 13-15, use the following information.
Account Balance You deposit $5000 in an account that earns 3% annual interest. Find the balance after one year if the interest is compounded with the given frequency.
13. Annually

14. Quarterly



15. Monthly
LESSON 4.2

Practice A
[image: image15.png]


Tell whether the function represents exponential growth or exponential decay.
1. [image: image16.png]A




f(x)=

2. f(x)=

3. [image: image17.png]


f(x)=5x
4. f(x)=

5. [image: image18.png]


f(x)=0.8x
6. f(x)=

[image: image19.png]"
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Match the function with its graph.
7. [image: image26.png]


f(x)=
8. [image: image27.png]


f(x)= (
9. [image: image28.png]


f(x)=
10. [image: image29.png]
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f(x)=
11. f(x)= (
12. f(x)= (
Graph the function.

13. f(x)=

14. f(x)= (
15. f(x)=

16. Depreciation You buy a new computer and accessories for $1200. The value of the computer decreases by 30% each year. Write an exponential decay model giving the computer's value F(in dollars) after t years. What is the value of the computer after four years?

LESSON 4.3

Practice A
Simplify the expression.
1. e4(e5
2. e6(e(3
3. (e3)2
4. 
5. 
Use a calculator to evaluate the expression. Round the result to three decimal places.
7. e3
8. e(2
9. e6
10. e0
11. e(4
12. e2/3
13. e(4/3
14. e3.1
Tell whether the function is an example of exponential growth or exponential decay.
15. f(x)=ex
16. f(x)=e(x
17. f(x)=3ex
18. f(x)=

19. f(x)=2e(2x
20. f(x)=e(x/2
Graph the function.

21. f(x)=2ex


22. f(x)=

23. f(x)= (e2x+2

24. Finance You deposit $1500 in an account that pays 3.25% annual interest compounded continuously. What is the balance after five years?
25. Population The population of a city can be modeled by P = 125,000e0.02t where t is the number of years since 1990. What was the population in 1995?

Answer Key
Lesson 4.1

Practice Level A
1. B

2. A

3. D

4. F

5. C

6. E

7. 
8. 
9. 
10. 
11. $5150.00

12. $5151.70

13. $5152.08

Answer Key

Lesson 4.2

Practice Level A

1. exponential decay

2. exponential growth

3. exponential growth

4. exponential growth

5. exponential decay

6. exponential growth

7. B

8. F

9. E

10. C

11. A

12. D

13. 
14. 
15. 
16. V = 1200(0.7)t; $288.12

Answer Key

Lesson 4.3

Practice Level A

1. e9
2. e3
3. e6
4. e3
5. 3e2x
6. 2

7. 20.086

8. 0.135

9. 403.429

10. 1

11. 0.018

12. 1.948

13. 0.264

14. 22.198

15. exponential growth

16. exponential decay

17. exponential growth

18. exponential growth

19. exponential decay

20. exponential decay

21. 
22. 
23. $1764.67

24. 138,146
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